Answer the questions given the grophs abowve.
1. what is the axls of symmetry for Groph A7 x_ -a
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2. What is the axls of symmetry for Groph B2 X=§

3. What is the vertex of Graph A7

4. What is the vertex of Graph 87
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Topic: Identifying Quadratics Roots Date:

Main Ideas/Questions

Notes
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Dbfiniflon The location(s) where the parabola crosses the
X- axis
Also called... |Xlntercepts zeros solutions
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1. y=x"+4x-5

AOS = X="a C
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Vertex = (‘& ;_ q) C

Solutions: { -5, 1} C
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Solutions: {1}
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Look for values of x when

=0
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Used to determine the number of solutions.

T Discriwiva, ;
hf) 'ﬂT Formule: If d > 0, then there are a solutions.
d — b2 - 4ac If d = 0, then there are I solutions.

If d <0, then there are solutions.

7 = x* +§x+§ C= L'L& &JY;{ );: 03 G_|0
d—(S)"“ 2 $ D00l d=CY S Sql.

9.y = x+10x+25 \ 10.y = 2X° - 4x 3
®=| b=10 ¢=4 S0l
a= (IO) '-KI)(QS

11.y = 4x2—12x+9 12.y=-3x* +5x - 8




Graphing v. Factoring

Graphing:

The equation needs to be
in the form:
y=ax>+bx + ¢

Graph the equation and
identify the roots, aka the

x-intercepts, or the zeroes.

Factoring:

The equation needs to be
in the form:
ax>+bx+c=0

Factor completely and then
set each factor equal to o.
Solve each equation for x.




Main Ideas/Questions Notes/Examples

In many cases, we can find the solutions (or roots, zeros, x-intercepts)
of a guadratic equation by factoring, rather than graphir g Follow the

Given: y=x"+3x-10

3+3x—10—0

Se teoch factor equcl to 0 and 1’= l b= 3 Cl— - ‘C

QC=-10

SOLVING steps below to find the solutions of 1heg en equation by factoring.
QUADRATICS | @] set tne quacratic equation equal fo .
By raCtOFIDCﬂ 9 Factor the left side
9 solve each factor for
— 5i a 0 Write your answer U
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X—-§)(X+5)=0 d |-5
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1. x’+4x+3=

Q=1 403

Qc= 3
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X=3 X=-R

5. x2-10x +21 =0
a=| b=-10 ¢=4d|
Qc=4d|
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6. .Tz—I—20=CI
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X-3)K1)=D
X=3=0 X-1=0
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X=3 X=7
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EQUATIONS
NOT IN

Standard Morm

MOVE © FACTOR © SOLVE!

Tl Tip -
x3+4x-a1=0  |xLyx-45=0
Exlgzii + 8 izh lq(-ix2 :Qq
10x3= 8x lbx?-9=0



